Submit 1 Copy To Appropriate District Office	State of New M			Form C-103		
District 1 – (575) 393-6161 Energy, Minerals and Natural Resources 625 N. French Dr., Hobbs, NM 88240		WELL API NO.	Revised August 1, 2011			
811 S. Fust St. Artesia, NM 8821	District II – (575) 748-1283 811 S. Fust St. Artesia. NM 8821 RECENTED NSERVATION DIVISION District III – (505) 334-6178 1220 South St. Francis Dr.		30-025-40002 5. Indicate Type of Lo			
1000 Rio Biazos Rd. Aztec, NM 87410 District IV - (505) 476-3460 JUN 07 2012 Santa Fe, NM 87505			6. State Oil & Gas Le	FEE 🔀 BLM		
	SOCD ES AND REPORTS ON WELLS	\$	N/A 7. Lease Name or Un	it Agreement Name		
(DO NOT USE THIS FORM FOR PROPOSALS TO DRILL OR TO DEEPEN OR PLUG BACK TO A DIFFERENT RESERVOIR. USE "APPLICATION FOR PERMIT" (FORM C-101) FOR SUCH			Monument AGI			
PROPOSALS) 1. Type of Well Oil Well Gas Well Other Acid Gas Injection			8. Well Number #1			
2. Name of Operator Targa Midstream Services, LP			9. OGRID Number 24650			
3. Address of Operator 1000 Louisiana, Ste. 4300, Houston, TX 77002			10. Pool name or Wil Wildcat AGI in Devoi			
4 Well Location			2512			
Unit LetterO: Section 36	662 _fect from theS Township 19S	Range 36E		cEline County Lea		
	11 Elevation <i>(Show whether Dk</i> 3571 GR					
12. Check Ap	propriate Box to Indicate N	Nature of Notice,	Report or Other Dat	ta		
PERFORM REMEDIAL WORK PLUG AND ABANDON REMEDIAL WORI TEMPORARILY ABANDON CHANGE PLANS COMMENCE DRI				TERING CASING		
PULL OR ALTER CASING	MULTIPLE COMPL	CASING/CEMEN	Т ЈОВ			
OTHER conduct high rate step rate a	and other reservoir tests 🛛	OTHER				
OTHER: conduct high rate step rate and other reservoir tests O OTHER: OT						
temperature sensaline to gathe	OCD-witnessed high rate step ra er reservoir data to evaluate pote gram and a rig up diagram are a	ntial reservoir stimu	lation options. A description			
Testing is scheduled to begin phone at 505-259-4283.	on Friday June 8, 2012. Any q	uestions please call	Alberto Gutterrez of Geo	olex, Inc. on my cell		
Caral Data						
Spud Date	Rıg Release D	ate:	<u>`</u>			
I hereby certify that the information ab	ove is true and complete to the h		a und haliaf			
Thereby certify that the information ab	ove is the and complete to the c	cst of my knowledg	e and benef			
SIGNATURE	TITLECon	sultant to Targa Mic	Istream Services DATE	E 6/6/2012		
Type or print name Alberto A. Gutierro For State Use Only	z, RG E-mail addres	ss: aag@geolex.con	<u>n</u> PHONE: 505-259-4	4283		
APPROVED BY	TITLE_S	MAG N	DATE	6-7-2012		
Conditions of Approval (if my):)					

Sundry Notices and Reports on Wells C-103 Attachment June 6, 2012

Targa will begin a high rate step rate test starting on June 8, 2012 to evaluate the well's injection capabilities and develop reservoir data for a reservoir stimulation program. Following is the anticipated testing program that is meant to satisfy the OCD's requirements for a witnessed step rate test to raise the allowable injection pressure and provide the data needed to present a proposed well stimulation program to the NMOCC pursuant to Order Number R-13052 and 13052-A. Please advise us of NMOCDs concurrence with this proposed test program or suggestions for improvement.

Step Rate Test

The Step Rate Test will be run to measure injection rates and pressures and to determine the fracture pressure of the formation (or, alternatively, to determine that no formation fractures are generated below a given injection rate and pressure.) The written procedure and rig up diagram are included herein and verbal notice will be provided to the OCD Hobbs office at least 24 hours before starting the test. The step rate test procedure includes two attachments in addition to the procedure described herein. These attachments are:

- 1. A well schematic,
- 2. A rig up diagram.

Downhole pressure gauges will be used to measure bottom hole pressures at injection rates of 1.0 to 5.0 bpm. Starting pump rates and pressures will be lower than the current rates and pressures (if the well is currently injecting) and there will be at least 3 steps below the 0.2 psi/ft gradient and 3 steps above the break-over point. Rate changes will be 0.5 bpm unless the OCD witness determines that bigger rate changes are necessary due to small incremental increases in pressure. Each step will be 20 minutes in duration unless otherwise determined by the OCD. Step duration will not be changed during the test.

The Step Rate Test design will take into account the current Order's maximum surface injection pressure limitation of 1,660 psi as well as the plant's ultimate need to dispose of

approximately 5 MMCFD TAG (approx. 2,000 bpd (1.4 bpm) of TAG. Accordingly, the	
following rate schedule is proposed:	

Step	Rate (bpm)	Time (min)	bbls	Cum
1	2.00	60	120	120
2	7.00	20	140	260
3	7.50	20	150	410
4	8.00	20	160	570
5	8.50	20	170	740
6	9.00	20	180	920
7	9.50	20	190	1110
8	10.00	20	200	1310
9	10.50	20	210	1520
10	11.00	30	330	1850
		250	1850	

If the injection pressure exceeds 1,660 psi (or if the injection pressure at 2.5 bpm is greater than 1,660 psi) and no breakover is witnessed, Targa may use the data collected to prepare a request to NMOCD for approval of a higher surface injection pressure limitation pursuant to paragraph D of Order No. R-13052.

24 hour verbal notice will be given to the Division's Hobbs office to allow witnessing of the step rate test.

:

.

I.

- Begin wastewater injection at 1.0 bpm and inject for 60 minutes (60 bbls total),
- Increase injection rate by 0.5 bpm each step and pump for 20 minutes up to a rate of 5.0 bpm (580 bbls cumulative total),
- Shut in and falloff for 120 hours (5 days),
- At end of 120 hours, pull out of hole with pressure bombs,
- Analyze pressure for transient pressures, and
- Use data from step rate test, temperature survey and transient testing to develop a stimulation plan for the well that would create the necessary injectivity for their AGI program (approximately 5 MMCFD of TAG)

ı,

- .'

TARGA MIDSTREAM SERVICES, LLP MONUMENT AGI #1 COMPLETION SCHEMATIC



TD: 9,208'

> . Page 5 of 6

> > ۱.

ł

Reservoir Testing for API 30-025-40002 Rig Up Diagram



· .